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END OF TERM 1 EXAM

GRADE 12

Mathematics 

Paper 1
DURATION: 2 hours                                                        29.03.2010                           
Instructions: 

Write your particulars in the spaces provided at the top of this page. 

Answer all questions.

Write your answers clearly in the spaces provided on the question paper..

Show your working for any question if needed in the space below that question.
Obmission of essential working will result in loss of marks.

Neigher electronic calculators nor mathematical tables may be used in this paper

Information to candidates:

The number of marks is given in brackets [ ] at the end of each question or part question.

The total amount of marks that can be arrived for this paper is 80.

!!!CONCENTRATE AND ALL THE BEST!!!

1. a) Express 0.875 as a common fraction in its lowest terms.

b) Evaluate 
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                                                                         Answer: a) ………………… [1]

                                                                                       b) ………………… [1]

2. Evaluate:

a) 
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giving your answer correct to two significant figures.

b) 
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                                                                        Answer: a) ……………………. [1]

                                                                                      b) ……………………. [1]

3. Give an approximate value of 
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 giving your answer correct to one significant figure.

                                                                 Answer:  ……………………. [2]

4. a) The age of 3 pupils are listed below:

    15 years 10 months, 16 years 8 months and 16 years 9 months.

     Find their mean age.

b) A group of 80 pupils were asked how many coloured pens they had with    

     them. The results were given as shown in the table;

	Number of coloured pens
	0
	1
	2
	3

	Number of children
	23
	19
	29
	9


For this distribution find:

i) the mode

ii) the medium

iii) the mean

                                                              Answer: a) ..……………………. [1]

                                                                                      b) i)……………………. [1]

                                                                                          ii) ……………………[1]

                                                                                         iii) ……………………[1]

5. a) Calculate the simple interest on K750 000 which is borrowed for 1 ½  years   

               at 8% per annum.

           b) A hall contains 175 people. 12% of them are children and there are 56 men.  

               How many women are in the hall?

                                                                Answer: a) ……………………. [1]

                                                                                        b) ……………………. [2]
6. a) A farmer  has sufficient grain to feed 30 hens for 4 days. How long would 

          the grain last if ten of the hens are sold?

      b) Sixteen workers can build a wall in 25 days. How many workers are needed  

          if the wall is to be built in 10 days?

                                                                   Answer: a) ……………………. [2]

                                                                                      b) ……………………. [2]
7. a) A set has 16 subsets. How many elements does it have?

b) In the venn diagramm, the subset is shown. If 
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i) the value of 
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                                                              Answer: a) ……………………. [1]

                                                                                      b) i)…………………..  [1]

                                                                                          ii)…………………. [1]

8. The cost C (in Kwacha) to run my air conditioning unit for time (t) minutes depends on outside air temperature (T) fahrenheit degrees. The cost is given by the formular.
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a) Express T in terms of t and C.

b) How much does it cost to keep my flat cool for 1 hour when the outside temperature is 81°F?

                                                               Answer: a) ………………… [1]

                                                                                       b) ………………… [2]
9. In the following terms: 
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 are three consecutive terms of an arithmetic progression. Find:

a) the common difference

b) value of 
[image: image12.wmf]x


c) the three consecutive numbers.

                                                               Answer: a) ………………… [1]

                                                                                       b) ………………… [1]

                                                                                       c)…………………. [1]
10.  Given that 
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a) Find the value of 
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 when A is singular.

b) Calculate 
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                                                               Answer: a) ………………… [1]

                                                                                       b) ………………… [1]

11.  Triangle ABC is an isosceles, given that AB = BC = 13 cm and DC = 12 cm,

a) State the number of triangles                A

      on the diagram

b) Find the value of 
[image: image16.wmf]x

                                               13cm
c) Find angle ABD as a fraction                             

                                                                                    D                       B 

                                                                             12cm

                                                                                      C

                                                               Answer: a) ………………… [1]

                                                                                       b) ………………… [1]

                                                                                       c)…………………. [2]
12.  X, Y and Z are three bags which contain coloured balls of the same size and weight. X contains 2 blue balls and 8 green balls, Y contains 5 blue and 3 red balls, Z contains 6 red balls and 9 green. A bag chosen is chosen at random, then a ball is chosen from this bag. By drawing a tree diagramm or otherwise, find the probability of choosing 

a) a green ball

b) a blue ball, if bag X is chosen

                                                               Answer: a) ………………… [1]

                                                                                       b) ………………… [2]

13. The sketch below shows the graph 
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The dotted line is the line of symmetry.

                                      y



                                                                            x

Find: a) the coordinates of A,B and C.

         b) the equation of the straight line joining B and C.

                                                                         Answer: a) ………………… [3]

                                                                                       b) ………………… [2]
14.  Points M and N have position vectors of 
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and 
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 respectively relative to the origin O. If 
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, find

        a) 
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        b) 
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                                                                    Answer: a) ………………… [1]

                                                                                       b) ………………… [2]
                                                                                       c) ………………… [1]

15. In triangle ABC, AB = 6cm, BC = 5cm and AC = 8cm. Use the cosine rule to show that 
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                                                  A                                                    B

                                                                                                              5 cm

                                                                           8cm

                                                                                                                       C

                                                                                                             Answer:  [3]

16. Given that 
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 means add the first number to half times the second.

Calculate:

a) 
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b) 
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                                                                         Answer: a) ………………… [2]

                                                                                       b) ………………… [2]
17.  Factorise completely

a) 
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b) 
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                                                                         Answer: a) ………………… [1]

                                                                                       b) ………………… [2]
18.  Given that 
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Find:    a) 
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                                                                    Answer: a) ………………… [1]

                                                                                       b) ………………… [2]
                                                                                       c) ………………… [1]

19.  Two similar pyramids have their surface area in the ratio 
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a) Find the ratio of the height.

b) If the volume of the larger pyramid is 500cm³, find the volume of the smaller pyramid.

                                                                         Answer: a) ………………… [2]

                                                                                                  b) ………………… [2]
20.  Given that y varies inversely as a square of x  and y = 90 and x = 2

a) Express y in terms of x and k.

b) Find the value of k.
c) Find the value of y when x= -10
d) Find two values of x for which y = 40

                                                                          Answer: a) ………………… [2]

                                                                                                  b) k =…..-………… [2]

                                                                                                  c) y =……………… [1]

                                                                                                  d) x = …….or….…..[2]

21.  The diagram shows the speed-time graph of a bicycle during 90 seconds.

  m/s

              

                 0                20                     50                  90           t(s)

         Calculate:

a) the total distance travelled during the 90 seconds.

b) the retardation during the last 40 seconds.

c) the speed of th bicycle at t = 15 seconds.

                                                                    Answer: a) ………………… [2]

                                                                                       b) ………………… [2]
                                                                                            c) ………………… [1]

22. Solve the simultaneos equations
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                                                                                Answer: x = ………………

                                                                                              y =………………… [3]

23.  The diagramm below is a regular pentagram, a fully symmetrical 

       five point star.

a) Calculate the value of i) x

                                            ii) y

b)  State the order of rotation of the regular pentagram.
c) On the diagram draw all lines of symmetry
                                                                                Answer: a) i)………………..  [1]

                                                                                                 ii)………………… [1]

                                                                                              b) ………………….. [1]

                                                                                              c) ………………….. [1]
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